



City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

R-2008-0181 Resolution In Committee

Resolution to approve bid of LaLonde Contractors, Inc. for alley reconstruction in various locations in the City of West Allis, in the amount of \$766,358.25.

Introduced: 8/5/2008 Controlling Body: Public Works Committee

Sponsor(s): Public Works Committee

COMMITTEE	RECOMM	ENDATION_	Apper					
ACTION	MOVER	SECONDER	Barczak	AYE	NO	PRESENT	EXCUSED	
DATE:			Czaplewski	V				
# = 0.0			Kopplin					
8-5-2008			Lajsic Narlock					
			Reinke					
	_/		Roadt	1				
			Sengstock	V				
			Vitale Weigel					
				4	0		1	
			TOTAL		_0			
Chair	Vice-Chair			Member				
COMMON CO	UNCIL AC	TION	A	DOPT				
ACTION	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED	
DATE:		-	Barczak Czaplewski				-	
UG 0 5 2008			Kopplin				1	
			Lajsic	1				
			Narlock	~				
			Reinke	V				
		-	Roadt Sengstock	/				
		/	Vitale	1				
	/		Weigel					
			TOTAL.	8	-		2	



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2008-0181 Final Action:

Sponsor(s): Public Works Committee AUG 0 5 2008

Resolution to approve bid of LaLonde Contractors, Inc. for alley reconstruction in various locations in the City of West Allis, in the amount of \$766,358.25.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of LaLonde Contractors, Inc. for 2008 Project No. 13 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of LaLonde Contractors, Inc. for 2008 Project No. 13:

Alley reconstruction in

- 1. East/West alley between S. 60 St. and S. 62 St.: W. Greenfield Ave. to W. Orchard St. (East/West Alley ONLY)
 PLAN FILE NOS. AP-383
- 2. North/South alley between S. 58 St. and S. 59 St.: W. Mitchell St. to W. Lapham St. PLAN FILE NOS. AP-384 & U-2455
- 3. North/South and East/West alley between S. 55 St. and S. 56 St.: W. Grant St. to W. Lincoln Ave.

PLAN FILE NOS. AP-385 & U-2456

4. North/South and East/West alley between S. 62 St. and S. 63 St.: W. Grant St. to W. Lincoln Ave.

PLAN FILE NOS. AP-386 & U-2457

5. North/South and East/West alleys between S. 65 St. and S. 66 St.: W. Grant St. to W. Lincoln Ave.

PLAN FILE NOS. AP-387 & U-2458

6. North/South and East/West alley between S. 67 Pl. and S. 68 St.: W. Grant St. to W. Lincoln Ave.

PLAN FILE NOS. AP-388 & U-2459

- 7. North/South alley between S. 71 St. and S. 72 St.; W. Rogers St. to W. Becher St. PLAN FILE NOS. AP-389 & U-2460
- 8. North/South and East/West alley between S. 72 St. and S. 73 St.: W. Grant St. to W. Lincoln Ave.

PLAN FILE NOS. AP-390 & U-2461

for the sum of Seven Hundred Sixty-Six Thousand Three Hundred Fifty-Eight and 25/100 Dollars (\$766,358.25)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Storm Water Management Funds, Bond Funds and Funds from Special Assessments.

ADOPTED AUG 0 5 2008

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Dan Devine, Mayor

City of West Allis 2008 Project No. 13 Bid Opening - 7/31/08

ALLEY RECONSTRUCTION

- 1. East/West alley between S. 60 St. and S. 62 St.: W. Greenfield Ave. to W. Orchard St. (East/West Alley ONLY)
- 2. North/South alley between S. 58 St. and S. 59 St.: W. Mitchell St. to S. Lapham St.
- 3. North/South and East/West alley between S. 55 St. and S. 56 St.: W. Grant St. to W. Lincoln Ave.
- 4. North/South and East/West alley between S. 62 St. and S. 63 St.: W. Grant St. to W. Lincoln Ave.
- 5. North/South and East/West alleys between S. 65 St. and S. 66 St.: W. Grant St. to S. Lincoln Ave.
- 6. North/South and East/West alley between S. 67 St. and S. 68 St.: W. Grant St. to S. Lincoln Ave.
- 7. North/South alley between S. 71 St. and S. 72 St.; W. Rogers St. to W. Becher St.
- 8. North/South and East/West alley between S. 72 St. and S. 73 St.: W. Grant St. to W. Lincoln Ave.

	Bid Bond 5%		Bid Bond 5%			
	LaLonde Contractors, Inc.		Capitol Pavers, Inc.			
	P.O. Box 070420		18005 W. Lincoln Ave.			
		Milwaukee, WI 53207		New Berlin, WI 53146		
ITEM	UNITS		PRICE	TOTAL	PRICE	TOTAL
1 Excavation	1,420	Cu. Yds.	\$19.50	27,690.00	\$25.35	35,997.00
2 Sodding	760	Sq. Yds.	\$8.79	6,680.40	\$13.00	9,880.00
3 Modular Block Wall, Complete	270	Sq. Ft.	\$30.00	8,100.00	\$30.00	8,100.00
4 Asphalt/Concrete Sawing	7,080	Lin. Ft.	\$1.65	11,682.00	\$2.00	14,160.00
5 Walk & Drive Removal	18,830	Sq. Ft.	\$0.55	10,356.50	\$1.00	18,830.00
6 Curb Removal	320	Lin. Ft.	\$10.00	3,200.00	\$4.00	1,280.00
7 Pavement Removal	8,890	Sq. Yds.	\$5.50	48,895.00	\$8.00	71,120.00
8 5" Concrete Walk & Drive	12,620	Sq. Ft.	\$3.60	45,432.00	\$4.00	50,480.00
9 7" Concrete Walk & Drive	2,950	Sq. Ft.	\$4.00	11,800.00	\$4.75	14,012.50
10 Concrete Curb and Gutter	330	Lin. Ft.	\$30.00	9,900.00	\$50.00	16,500.00
11 7" Concrete Alley Pavement	8,870	Sq. Yds.	\$30.00	266,100.00	\$37.00	328,190.00
12 Pavement Ties	180	Each	\$12.00	2,160.00	\$10.00	1,800.00
13 Crushed Stone Driveway	32	Tons	\$24.00	768.00	\$20.00	640.00
14 Base Aggregate Dense, 1-1/4"	2,740	Tons	\$24.00	65,760.00	\$23.50	64,390.00
15 Tack Coat	102	Gallons	\$5.00	510.00	\$2.90	295.80
16 HMA Pavement (Type E-0.3)	97	Tons	\$156.00	15,132.00	\$225.00	21,825.00
17 15" Dia. Storm Sewer	107	Lin. Ft.	\$52.00	5,564.00	\$52.00	5,564.00
18 12" Dia. Storm Sewer	64	Lin. Ft.	\$48.00	3,072.00	\$48.00	3,072.00
19 10" Dia. Storm Underdrain	2,529	Lin. Ft.	\$38.40	97,113.60	\$38.40	97,113.60
20 6" Dia. Storm Underdrain	1,847	Lin. Ft.	\$33.25	61,412.75	\$33.25	61,412.75
21 6" Dia. Bldg. Storm Sewer (1)	9	Lin. Ft.	\$60.00	540.00	\$60.00	540.00
22 Junction Chamber	1	Unit	\$7,200.00	7,200.00	\$7,200.00	7,200.00
23 Alley Type Catch Basins	27	Units	\$1,480.00	39,960.00	\$1,480.00	39,960.00
24 Adjust Catch Basin Frames	8	Each	\$260.00	2,080.00	\$260.00	2,080.00
25 Adjust Storm Manhole Frames	5	Each	\$260.00	1,300.00	\$260.00	1,300.00
26 Inlet Protection Barrier	40	Units	\$65.00	2,600.00	\$55.00	2,200.00
27 Manhole Protection Barrier	5	Units	\$70.00	350.00	\$70.00	350.00
28 Traffic Control	1	Lump Sum	\$11,000.00	11,000.00	\$20,000.00	20,000.00
Total				766,358.25		898,292.65